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Creating Lists of Data, Displaying the Graph, Using the Regression Capabilities of the
Handheld, Predicting Using the Regression Model, and Finding the Change Between
Entries in the List Editor

To enter the data from the Snapshot in the activity, L1 Lz Lz i
press [Jand select 1:Edit to access the List Editor — | I
window. Be sure to clear any existing data in the lists
by highlighting the list name and pressing & . If you
see a list other than L1 through L6, press and select
[15:SetUpEditor Cand then follow the above
instructions. Litfa=
Move the cursor to the first data position in L1. Enter [L1 LE L3 1
data from the Snapshot that represent the year when FECTM| 132 | oo
the population was estimated. Move the cursor to the EEE ﬁg
first data position in L2 and enter the corresponding 18970 | £0%
population for that year. Egg %E;
i858 el
Lithh=194[
Access the STAT PLOTS menu by pressing o. Flotz Flot:
Select 1:Plotl to get the screen shown. Notice that Eﬂ{-"
Plot1 and On are highlighted. To turn on or off any uFe: B L d
plot, place the cursor over the name, press €, then . '_ﬂ" HIH [
select either On or Off, and press Cagain. This ﬁ % i i% ; t ;
process acts like a toggle switch to turn the plots on Mark: B +
and off the graphing display.
Press oand clear any equations listed. AE Flokz Flots
w1 =
wWe=
wir=
~hy=
wWE=
wME=
W=
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To insure all the data points are visible, press
Window and enter values for the x-axis and y-axis
that contain the range of values from the graphic.

Press o

Another feature of the graphing calculator is to set the
Window automatically. Press 0—C, this will
automatically adjust the viewing window to display
all the data points in the scatter plot.

To use the regression capabilities, press H to access
the CALC menu. Select 4:LinReg(ax+b) and enter
YL1'YL2' press[] ~CC.
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Press Cto have the handheld calculate the linear
function that best models the data set.

Press 0. The regression line and the scatter plot are
displayed simultaneously.

Press oto view the linear function. Notice that Plot 1 is
highlighted, which indicates that the data points for L1
and L2 are showing on the graph. The = beside Y1 is
also highlighted, which indicates that the linear
function determined by the regression capabilities is
also showing on the graph. Pressing Cwhen the cursor
is in either of these highlighted areas acts as a toggle to
turn on or off the display of that component on the
graph.

Press opto see the coordinates. Press }or [Jto toggle
between the scatter plot data and the linear function.

Linkea
g=3x+hk
a=2.432d444E852
b=-4532. 5353356

AME Flotz Flot:
B2 4324448619
E2lx+ -45288, 55335
E2S22
wWe=
W r=
W y=
wMe=
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To find the expected population in 2025, move the Vi=E Y EEYYYOELEEZ LN+ ~HE_"
blinking cursor using the }or [Jso that it is on the
linear function. Entering the x value will
automatically display this value at the bottom of the
screen. Remember to change the values in the
Window to include 2025.

Press Cand the corresponding population will be

di Y=z HEZHYY0EL9EE 1N+ -usg
isplayed.

a0k L ¥EEEFANEES

A second way to view the corresponding data is to TRELE SETLUP

use the table view. To access this feature, press . Thlstart=1944
The TABLE SETUP screen will display, a sample is albl=

shown. — indicates the lower x (independent) value Indent, :
of the window setting and ATbl indicates that the x Derend:
values will increase or decrease by that value.

Press y0to show the table with values for the years L Ly
and corresponding expected number of students. Use i9oc | zg4.17
the down arrow key to scroll the table to find your %ggg %EE?
answers. zoin | 006
cOik ziz.H2
>chH.98
EXIs 12
A=2B25

A third way to determine the expected population for — [Lry
a given year is to evaluate the Y= function. Press
P5[.

Press H CC.
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Following the Y1 enter <323 and press C. This

: : W CZBES
represents the predicted population for the year 2025 337, 1452697
in millions. )

To find the change between entries in the LIST editor. Press (&

Move the cursor to the top of L3. L1 Lz ) =] %
Press 99~ to OPS and select 7:AList( 1040 127 |
= |55
Press yL2/C 1970 | Z0k
1980 cer
1990 cyg
19880 4 1)

Ly =alistiLz2ll

The values in L3 represent the consecutive L1 LE Lz 3
differences between the data in L2 which is the 1940 132 T
change in population. EEE ﬁg %E
18710 cik &
189HN e &
19910 ¢4 i
1998 chd iz
Lzi=2"H
Move to the bottom of L3 and enter O for the last
L1 Lz Lz 3
entry.
189510 180 cE
18970 ¢k e
19840 eer ey
1894910 <48 1]
18898 By i:
©72004 Texas Inctriments Tneal 20010 cH1 n_




USA TODAY Science TODAY: The More the Merrier?

TI Technology Guide for The More the Merrier?

TI-83 Plus and TI-84 Plus Families

Move to the top of L4 and press ¢pooe | X 2. Lz L= 4] 4
12 f |
p S ch
180 ¢k
it cL
cer o
c4a ch
=1 iz

Ly =Lz Lz*1B88

Press €. Complete the data table showing the percent

h i lati ded to tenth Le L L .

change in population rounded to tenths. 17z - 9E 107 |
p S ch 18.4z1
180 ¢k iz.HA9
it cL 10,752
cer o 0.6915
c4a ch B.ozzl
=1 iz 4.451

=15, 15151515..

©7004 Texaq Inctriments Incarnorated



